Dutchess Bakers’ Machinery Company, Incorporated

Model BM-36

Bench Model Dough Divider

Parts List

Parts for machines with serial number
stamped on Yoke.

Part No.
BM-001
BM-002
BM-003
BM-004
BM-007PNT
BM-008
BM-010
BM-011
BM-015
BM-016
BM-017A
BM-018PLTD
BM-024
BM-026A
BM-027A
BM-028BA
BM-029A
BM-030PNT
BM-038
BM-057PNT
BM-058PNT
BM-059PNT
BM-061
BM-062
BM-064
BM-066PH
BM-067
BM-088PNT
SDD-70

[ A‘l‘!
“Bn
“D"
“E”
qu!

“G‘l‘!
“H'n

Description

Rack

Inside Ring

Outside Ring

Knife Plate

Trip Lever

Outside Plug (New # B4-139-0027)
Intermediate Plug (New # B4-139-0022)
Center Plug (New # B4-139-0028)
R/H Torsion Spring}  g01d in pairs only
L/H Torsion Spring}

Stainless Steel Pan

Operating Handle

Trip Lever Screw

Large Center Knife (Stainless Steel}
Smmall Center Knife (Stainless Steel)
Intermediate Knife (Stainless Steel)
Outside Knife (Stainless Steel)
Latch

Latch Pin

Yoke

Plug Plate

Base

Spindle

Yoke Pin

Spring Shaft

Trip Lever Plate

Yoke Locking Pin

Segment

Intermediate & Inside Plug Screw

Sq. Hd. Set Screw (for Segment) 2” long

Sq. Hd. Set Screw (for Segment) 1-1/4” long

Hex Hd. Capscrew (for Rack) 1-1/4 “ long

Rd. Hd. Machine Screw (for Knives) 17 long

Rd. Hd. Machine Screw (for Qutside Plugs) 1-1/4” long
Flat Hd. Machine Screw (for Trip Lever Plate) 3/4” long
Thin Hex Nut (for Spindle)

FOLLOWING ARE FOR 18-PART MACHINES ONLY

BM-068
BM-069
BM-070
BM-071
BM-072
BM-073
RR-521

Cutside Plug
Outside Ring
Inside Ring
Center Knife
Intermediate Plug
Center Plug

Plug Stem

=y o —-

Bum-8 BM-10 BM-11

T BM-18 A
il - SERIAL NUMBER
1!

PR-521 BM-73 BM-T2 BM-68

PO I8 FART LT ey

? F_j:,;,_-—:_‘a m

BM-88 BM-15

BM-69
1

IMIM’IW’MY

A
‘BM-26A BM-7T1A

FOR @ PART 0T DALY



